Tadeusz Jankowski Multipoint boundary value problems for ODEs. Part II

Czechoslovak Mathematical Journal, Vol. 54 (2004), No. 4, 843-854

Persistent URL: http://dml.cz/dmlcz/127934

Terms of use:

© Institute of Mathematics AS CR, 2004

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://dml.cz

MULTIPOINT BOUNDARY VALUE PROBLEMS FOR ODES. PART II

TADEUSZ JANKOWSKI, Gdańsk

(Received June 15, 2001)

Abstract. We apply the method of quasilinearization to multipoint boundary value problems for ordinary differential equations showing that the corresponding monotone iterations converge to the unique solution of our problem and this convergence is quadratic.

Keywords: quasilinearization, monotone iterations, quadratic convergence, multipoint boundary value problems

MSC 2000: 34A45, 34B99

INTRODUCTION

In this paper, we shall consider the following differential problem

(1)
$$\begin{cases} x'(t) = h(t, x(t)), \ t \in J = [0, T], \ T > 0, \\ x(0) = -\alpha x(t_1) + \beta x(T) + k, \ 0 < t_1 < T, \end{cases}$$

where $h \in C(J \times \mathbb{R}, \mathbb{R})$, $\alpha, \beta, k \in \mathbb{R}$. We see that if $\alpha = k = 0$ and $\beta = 1$ or $\beta = -1$, then we have a periodic or anti-periodic boundary value problem, respectively.

It is well known ([2], [3], [8]–[12], [15]) that the method of quasilinearization offers an approach for obtaining approximate solutions to nonlinear differential problems. Recently it was generalized and extended under less restrictive assumptions.

The aim of this paper is to apply this method to general multipoint boundary value problems for ordinary differential equations. We construct monotone sequences as the solutions of the corresponding linear systems. Under the assumption that $f + \Delta$ is convex and $g + \Psi$ is concave for some convex function Δ and concave function Ψ (see assumption H₃(a)) with h = f + g, we prove that those sequences converge quadratically to the unique solution of our problem. This result is of both theoretical and computational interest. We must point out that our considerations lead us to prove some results for linear problems which are important in our investigations.

In Sections 1 and 2 we study differential problems with conditions of the form $x(0) = \omega_1 x(t_1) + \omega_2 x(T) + k$, $0 < t_1 < T$, for $\omega_1, \omega_2, k \in \mathbb{R}$ (see problems (1) and (13)). Our considerations crucially depend on the notion of weakly coupled lower and upper solutions connected with positive or negative values of ω_1 and ω_2 . Section 3 contains the general case with a multipoint boundary condition of the form $x(0) = \sum_{i=1}^r a_i x(t_i), a_i \in \mathbb{R}$.

This paper generalizes the results of [5] and [6] in which multipoint problems were studied for cases when all coefficients a_i are positive or all are negative. This paper also contains some results for periodic and anti-periodic boundary value problems obtained in [8]–[12], [16]–[17]. Note that if all coefficients $a_i = 0$, then we have an initial value problem.

Two and multipoint boundary value problems have been considered by several authors, see for example [4], [13], [14] and the references therein and in [1]. It is difficult to compare those results with the corresponding results of this paper because we use a different technique based on the theory of differential inequalities, see for the details [7] and [12].

Section 1

Functions $u, v \in C^1(J, \mathbb{R})$ are called weakly coupled lower and upper solutions of the problem (1) if

$$\begin{cases} u'(t) \leq h(t, u(t)), \ t \in J, \ u(0) \leq -\alpha v(t_1) + \beta u(T) + k, \\ v'(t) \geq h(t, v(t)), \ t \in J, \ v(0) \geq -\alpha u(t_1) + \beta v(T) + k. \end{cases}$$

Let $\Omega = \{(t, u) \in J \times \mathbb{R} : y_0(t) \leq u \leq z_0(t), t \in J\}$ be nonempty. The notation $h \in C^{0,2}(\Omega, \mathbb{R})$ means that $h, h_x, h_{xx} \in C(\Omega, \mathbb{R})$.

We introduce the following assumptions for later use.

- (H₁) $h \in C(\Omega, \mathbb{R}), \ \alpha, \beta \ge 0,$
- (H₂) $y_0, z_0 \in C^1(J, \mathbb{R})$ are weakly coupled lower and upper solutions of (1) and such that $y_0(t) \leq z_0(t), t \in J$,
- (H₃) $f, g, \Delta, \Psi \in C^{0,2}(\Omega, \mathbb{R})$ with h = f + g, and moreover
 - (a) $F_{xx}(t,u) \ge 0$, $\Delta_{xx}(t,u) \ge 0$, $G_{xx}(t,u) \le 0$, $\Psi_{xx}(t,u) \le 0$ on Ω for $F = f + \Delta$, $G = g + \Psi$,
 - (b) $\alpha K(t_1) + \beta K(T) < 1$ for $K(t) = \exp(\int_0^t L(s) \, ds)$ with $L(s) = F_x(s, z_0(s)) + G_x(s, y_0(s)) \Delta_x(t, y_0(s)) \Psi_x(s, z_0(s)).$

Lemma 1. Let $a, b \in C(J, \mathbb{R})$, $M, N \in C(J, \mathbb{R}_+)$ with $\mathbb{R}_+ = [0, \infty)$. Assume that $k_1, k_2, \alpha, \alpha_1, \beta, \beta_1 \ge 0$ and the conditions

(i)
$$1 - \beta A(T) > 0$$
, $1 - \beta_1 B(T) > 0$, $\alpha_1 \alpha A(t_1) B(t_1) < [1 - \beta A(T)][1 - \beta_1 B(T)]$

are satisfied for

$$A(t) = \exp\left(\int_0^t a(s) \,\mathrm{d}s\right), \quad B(t) = \exp\left(\int_0^t b(s) \,\mathrm{d}s\right).$$

Let $p, q \in C^1(J, \mathbb{R})$ and

$$\begin{cases} p'(t) \leqslant a(t)p(t) + M(t), \ t \in J, \\ p(0) \leqslant \alpha q(t_1) + \beta p(T) + k_1, \end{cases} \begin{cases} q'(t) \leqslant b(t)q(t) + N(t), \ t \in J, \\ q(0) \leqslant \alpha_1 p(t_1) + \beta_1 q(T) + k_2. \end{cases}$$

Then

(2)
$$w(t) \leq C(t)\mathcal{A}^{-1}\mathcal{B} + \mathcal{D}(t), \quad t \in J$$

with

$$w(t) = \begin{bmatrix} p(t) \\ q(t), \end{bmatrix} \quad \mathcal{C}(t) = \begin{bmatrix} A(t) & 0 \\ 0 & B(t) \end{bmatrix}, \quad \mathcal{A} = \begin{bmatrix} 1 - \beta A(T) & -\alpha B(t_1) \\ -\alpha A(t_1) & 1 - \beta_1 B(T) \end{bmatrix},$$
$$\mathcal{B} = \begin{bmatrix} \alpha B(t_1)D(t_1) + \beta A(T)C(T) + k_1 \\ \alpha_1 A(t_1)C(t_1) + \beta B(T)D(T) + k_2 \end{bmatrix}, \quad \mathcal{D}(t) = \begin{bmatrix} A(t)C(t) \\ B(t)D(t) \end{bmatrix},$$
$$C(t) = \int_0^t M(s) \exp\left(-\int_0^s a(u) \, \mathrm{d}u\right) \, \mathrm{d}s, \quad D(t) = \int_0^t N(s) \exp\left(-\int_0^s b(u) \, \mathrm{d}u\right) \, \mathrm{d}s.$$

Moreover, if M(t) = N(t) = 0 on J and $k_1 = k_2 = 0$, then

(3)
$$p(t) \leq 0, \quad q(t) \leq 0 \text{ on } J.$$

Proof. Note that

$$\begin{cases} p(t) \leqslant A(t)[p(0) + C(t)], & t \in J, \\ q(t) \leqslant B(t)[q(0) + D(t)], & t \in J, \end{cases}$$

 \mathbf{so}

(4)
$$w(t) \leq \mathcal{C}(t)w(0) + \mathcal{D}(t), \quad t \in J.$$

Moreover, using the boundary conditions we get

$$\begin{cases} p(0) \leq \alpha B(t_1)[q(0) + D(t_1)] + \beta A(T)[p(0) + C(T)] + k_1, \\ q(0) \leq \alpha_1 A(t_1)[p(0) + C(t_1)] + \beta_1 B(T)[q(0) + D(T)] + k_2. \end{cases}$$

or $\mathcal{A}w(0) \leq \mathcal{B}$. Hence $w(0) \leq \mathcal{A}^{-1}\mathcal{B}$ because \mathcal{A}^{-1} exists and is positive (so its entries are nonnegative), by assumption (i). Combining this with (4) we have (2).

Note that if M(t) = N(t) = 0 on J and $k_1 = k_2 = 0$, then C(t) = D(t) = 0on J, so $\mathcal{B} = \begin{bmatrix} 0 & 0 \end{bmatrix}^T$, $\mathcal{D}(t) = \begin{bmatrix} 0 & 0 \end{bmatrix}^T$, $t \in J$. In this case, the inequality (2) yields $p(t) \leq 0$, $q(t) \leq 0$ on J.

This completes the proof.

Remark 1. If $\alpha = \alpha_1$, $\beta = \beta_1$ and a(t) = b(t) on J, then A(t) = B(t) on J. Consequently, the condition (i) takes the form

(5)
$$\alpha A(t_1) + \beta A(T) < 1.$$

Note that in this case we have also

(6)
$$p(t) + q(t) \leqslant \frac{A(t)}{m} [\alpha \gamma(t_1) + \beta \gamma(T) + k_1 + k_2] + \gamma(t), \quad t \in J$$

with $m = 1 - \alpha A(t_1) - \beta A(T), \ \gamma(t) = A(t)[C(t) + D(t)], \ t \in J.$

Similarly as Lemma 1 we can prove

Lemma 2. Assume that $a \in C(J, \mathbb{R})$, $M \in C(J, \mathbb{R}_+)$, $\alpha, \beta, k_1 \ge 0$ and

$$m \equiv 1 - \alpha A(t_1) - \beta A(T) > 0 \quad \text{for } A(t) = e^{\int_0^t a(s) \, \mathrm{d}s}$$

Let $p \in C^1(J, \mathbb{R})$, and

$$\begin{cases} p'(t) \leq a(t)p(t) + M(t), & t \in J, \\ p(0) \leq \alpha p(t_1) + \beta p(T) + k_1. \end{cases}$$

Then

$$p(t) \leqslant A(t) \left\{ \frac{1}{m} [\alpha A(t_1)C(t_1) + \beta A(T)C(T) + k_1] + C(t) \right\}$$

with C defined as in Lemma 1.

Moreover, if $k_1 = 0$ and M(t) = 0 on J, then $p(t) \leq 0$ on J.

Lemma 3. Assume that $a, b, M, N \in C(J, \mathbb{R})$, and

(7)
$$[1 - \beta A(T)][1 - \beta_1 B(T)] - \alpha \alpha_1 A(t_1) B(t_1) \neq 0$$

for A and B defined as in Lemma 1.

Then the system

(8)
$$\begin{cases} y'(t) = a(t)y(t) + M(t), \ t \in J, \ y(0) = -\alpha z(t_1) + \beta y(T) + k_1, \\ z'(t) = b(t)z(t) + N(t), \ t \in J, \ z(0) = -\alpha_1 y(t_1) + \beta_1 z(T) + k_2 \end{cases}$$

has a unique solution (y, z).

Proof. Indeed,

$$\begin{cases} y(t) = A(t)[y(0) + C(t)], \ t \in J, \\ z(t) = B(t)[z(0) + D(t)], \ t \in J \end{cases}$$

with C and D defined as in Lemma 1. Using the boundary conditions we obtain

$$\mathcal{P}\begin{bmatrix}y(0)\\z(0)\end{bmatrix} = \begin{bmatrix}-\alpha B(t_1)D(t_1) + \beta A(T)C(T) + k_1\\-\alpha_1 A(t_1)C(t_1) + \beta_1 B(T)D(T) + k_2\end{bmatrix}$$

with the matrix \mathcal{P} defined by

$$\mathcal{P} = \begin{bmatrix} 1 - \beta A(T) & \alpha B(t_1) \\ \alpha_1 A(t_1) & 1 - \beta_1 B(T) \end{bmatrix}.$$

By (7), the matrix \mathcal{P} is invertible which proves that the problem (8) has a unique solution (y, z).

This completes the proof.

Lemma 4. Let the assumption H_1 hold. Assume that $h_x \in C(\Omega, \mathbb{R})$, and

(9)
$$\alpha \exp\left(\int_0^{t_1} h_x(s, u(s)) \,\mathrm{d}s\right) + \beta \exp\left(\int_0^T h_x(s, u(s)) \,\mathrm{d}s\right) \neq 1 \quad \text{for } (s, u) \in \Omega.$$

Let $y, z \in C^1(J, \mathbb{R})$ and

$$\begin{cases} y'(t) = h(t, y), \ t \in J, \ y(0) = -\alpha z(t_1) + \beta y(T) + k, \\ z'(t) = h(t, z), \ t \in J, \ z(0) = -\alpha y(t_1) + \beta z(T) + k. \end{cases}$$

Then y and z are solutions of the problem (1).

Proof. Put p = y - z. Then $p(0) = \alpha p(t_1) + \beta p(T)$ and

$$p'(t) = h(t, y) - h(t, z) = h_x(t, \xi(t))p(t), \quad t \in J,$$

where ξ is between y and z. Hence

$$p(t) = d(t)p(0), t \in J$$
 with $d(t) = \exp\left(\int_0^t h_x(s,\xi(s)) \,\mathrm{d}s\right)$.

Now, the boundary condition yields $p(0)[1 - \alpha d(t_1) - \beta d(T)] = 0$. By the condition (9), p(0) = 0, and hence p(t) = 0 on J. This means that y(t) = z(t) on J, so y and z satisfy the equations

$$\begin{cases} y'(t) = h(t, y), \ t \in J, \ y(0) = -\alpha y(t_1) + \beta y(T) + k, \\ z'(t) = h(t, z), \ t \in J, \ z(0) = -\alpha z(t_1) + \beta z(T) + k. \end{cases}$$

This proves that y and z are solutions of the problem (1).

This ends the proof.

Lemma 5. Let the assumption H_1 hold. Assume that $h_x \in C(\Omega, \mathbb{R})$, and

(10)
$$-\alpha \exp\left(\int_0^{t_1} h_x(s, u(s)) \,\mathrm{d}s\right) + \beta \exp\left(\int_0^T h_x(s, u(s)) \,\mathrm{d}s\right) \neq 1 \quad \text{for } (s, u) \in \Omega.$$

Then the problem (1) has at most one solution.

Proof. Assume that problem (1) has two distinct solutions x and y on the segment $[y_0, z_0]$. Put p = x - y, so $p(0) = -\alpha p(t_1) + \beta p(T)$. The mean value theorem yields

$$p'(t) = h(t, x) - h(t, y) = h_x(t, \xi(t))p(t), \quad t \in J,$$

where ξ is between x and y. Hence $p(t) = c(t)p(0), t \in J$ with $c(t) = e^{\int_0^t h_x(s,\xi(s)) ds}$. Moreover, by the boundary condition, $p(0)[1 + \alpha c(t_1) - \beta c(T)] = 0$. By (10), it follows that p(0) = 0 showing that p(t) = 0 on J. This means that x(t) = y(t) on J.

This completes the proof.

Lemma 6. Assume that the assumptions H_1 , H_3 are satisfied. Let $u, v \in C^1(J, \mathbb{R})$ be weakly coupled lower and upper solutions of (1) such that $y_0(t) \leq u(t) \leq v(t) \leq z_0(t)$ on J. Let

(11)
$$\begin{cases} y'(t) = h(t, u) + W(t, u, v)[y(t) - u(t)], \ t \in J, \\ y(0) = -\alpha z(t_1) + \beta y(T) + k, \\ z'(t) = h(t, v) + W(t, u, v)[z(t) - v(t)], \ t \in J, \\ z(0) = -\alpha y(t_1) + \beta z(T) + k \end{cases}$$

with $W(t, u, v) = F_x(t, u) + G_x(t, v) - \Delta_x(t, v) - \Psi_x(t, u).$ Then

(12)
$$u(t) \leqslant y(t) \leqslant z(t) \leqslant v(t), \quad t \in J,$$

and moreover, y, z are weakly coupled lower and upper solutions of (1).

Proof. By the assumption H_3 , we get $W(t, u, v) \leq L(t)$. This, the assumption $H_3(b)$ and Lemma 3 prove that the system (11) has a unique solution (y, z).

Now we are going to show that (12) holds. Put p = u - y, q = z - v, so $p(0) \leq \alpha q(t_1) + \beta p(T)$, $q(0) \leq \alpha p(t_1) + \beta q(T)$. Moreover,

$$\begin{cases} p'(t) \leqslant h(t,u) - h(t,u) - W(t,u,v)[y(t) - u(t)] = W(t,u,v)p(t), \ t \in J, \\ q'(t) \leqslant h(t,v) + W(t,u,v)[z(t) - v(t)] - h(t,v) = W(t,u,v)q(t), \ t \in J. \end{cases}$$

This and Lemma 1 give $p(t) \leq 0$, $q(t) \leq 0$ on J showing that $u(t) \leq y(t), z(t) \leq v(t)$ on J. Now, let p = y - z. Hence $p(0) = \alpha p(t_1) + \beta p(T)$. Furthermore, by the mean value theorem and the assumption $H_3(a)$ we obtain

$$\begin{aligned} p'(t) &= h(t, u) - h(t, v) + W(t, u, v)[y(t) - u(t) - z(t) + v(t)] \\ &= h_x(t, \xi(t))[u(t) - v(t)] + W(t, u, v)[y(t) - u(t) - z(t) + v(t)] \\ &= [F_x(t, \xi(t)) + G_x(t, \xi(t)) - \Delta_x(t, \xi(t)) - \Psi_x(t, \xi(t)) - W(t, u, v)][u(t) - v(t)] \\ &+ W(t, u, v)p(t) \leqslant W(t, u, v)p(t), \quad t \in J, \end{aligned}$$

where $u(t) < \xi(t) < v(t), t \in J$. This and Lemma 2 prove that $y(t) \leq z(t)$ on J which means that (12) holds.

Now, the mean value theorem and the assumption $H_3(a)$ yield

$$\begin{split} y'(t) &= h(t,u) + W(t,u,v)[y(t) - u(t)] - h(t,y) + h(t,y) \\ &= h(t,y) + h_x(t,\xi_1(t))[u(t) - y(t)] + W(t,u,v)[y(t) - u(t)] \leqslant h(t,y), \ t \in J, \\ z'(t) &= h(t,v) + W(t,u,v)[z(t) - v(t)] - h(t,z) + h(t,z) \\ &= h(t,z) + h_x(t,\xi_2(t))[v(t) - z(t)] + W(t,u,v)[z(t) - v(t)] \geqslant h(t,z), \ t \in J. \end{split}$$

It follows that y and z are weakly coupled lower and upper solutions of (1). This completes the proof.

Theorem 1. Let the assumptions H_1 , H_2 and H_3 hold.

Then there exist monotone sequences $\{y_n\}$, $\{z_n\}$ which converge monotonically and uniformly to the unique solution of the problem (1) and the convergence is quadratic.

Proof. Let

$$\begin{cases} y'_{n+1}(t) = h(t, y_n) + W(t, y_n, z_n)[y_{n+1}(t) - y_n(t)], & t \in J, \\ y_{n+1}(0) = -\alpha z_{n+1}(t_1) + \beta y_{n+1}(T) + k, \\ \\ z'_{n+1}(t) = h(t, z_n) + W(t, y_n, z_n)[z_{n+1}(t) - z_n(t)], & t \in J, \\ z_{n+1}(0) = -\alpha y_{n+1}(t_1) + \beta z_{n+1}(T) + k, \end{cases}$$

where W is defined as in Lemma 6. By Lemma 3, y_1 and z_1 are well defined. Moreover, Lemma 6 yields the relation

$$y_0(t) \leqslant y_1(t) \leqslant z_1(t) \leqslant z_0(t), \quad t \in J.$$

Also, by Lemma 6, y_1 and z_1 are weakly coupled lower and upper solutions of (1). Now, using induction argument, we can prove that for all n and $t \in J$,

$$y_0(t) \leqslant y_1(t) \leqslant \ldots \leqslant y_{n-1}(t) \leqslant y_n(t) \leqslant z_n(t) \leqslant z_{n-1}(t) \leqslant \ldots \leqslant z_1(t) \leqslant z_0(t).$$

Employing a standard argument (see [7]), it is easy to conclude that the sequences $\{y_n\}$, $\{z_n\}$ converge uniformly and monotonically to the limit functions y and z, respectively, where y and z satisfy the equations

$$\begin{cases} y'(t) = h(t, y), \ t \in J, \\ y(0) = -\alpha z(t_1) + \beta y(T) + k, \\ z'(t) = h(t, z), \ t \in J, \\ z(0) = -\alpha y(t_1) + \beta z(T) + k. \end{cases}$$

By Lemma 4, y and z are solutions of (1). This and Lemma 5 show that problem (1) has a unique solution x, so y = z = x.

The proof will be completed if we show that the convergence of $\{y_n\}$ and $\{z_n\}$ to x is quadratic. Let $p_{n+1} = x - y_{n+1} \ge 0$, $q_{n+1} = z_{n+1} - x \ge 0$. Note that

 $p_{n+1}(0) = \alpha q_{n+1}(t_1) + \beta p_{n+1}(T), q_{n+1}(0) = \alpha p_{n+1}(t_1) + \beta q_{n+1}(T)$. Hence, by the mean value theorem and the assumption $H_3(a)$, we obtain

$$\begin{split} p_{n+1}'(t) &= h(t,x) - h(t,y_n) - W(t,y_n,z_n)[y_{n+1}(t) - y_n(t)] \\ &= h_x(t,\xi_1)p_n(t) - W(t,y_n,z_n)[p_n(t) - p_{n+1}(t)] \\ &\leqslant [F_x(t,x) - F_x(t,y_n) + G_x(t,y_n) - G_x(t,z_n) + \Delta_x(t,z_n) - \Delta_x(t,y_n) \\ &+ \Psi_x(t,y_n) - \Psi_x(t,x)]p_n(t) + W(t,y_n,z_n)p_{n+1}(t) \\ &= \{F_{xx}(t,\xi_2)p_n(t) - G_{xx}(t,\xi_3)[p_n(t) + q_n(t)] + \Delta_{xx}(t,\xi_4)[q_n(t) + p_n(t)] \\ &- \Psi_{xx}(t,\xi_5(t))p_n(t)\}p_n(t) + W(t,y_n,z_n)p_{n+1}(t) \\ &\leqslant \{(A_1 + A_4)p_n(t) + (A_2 + A_3)[p_n(t) + q_n(t)]\}p_n(t) + L(t)p_{n+1}(t), \\ &\leqslant L(t)p_{n+1}(t) + D_1, \end{split}$$

where $y_n(t) < \xi_1(t), \xi_2(t), \xi_5(t) < x(t), y_n(t) < \xi_3(t), \xi_4(t) < z_n(t)$ with L defined as in the assumption H₃(b), and

$$|F_{xx}(t,u)| \leq A_1, \ |G_{xx}(t,u)| \leq A_2, \ |\Delta_{xx}(t,u)| \leq A_3, \ |\Psi_{xx}(t,u)| \leq A_4 \quad \text{on } \Omega,$$

$$D_1 = \max_{t \in J} [K_1 p_n^2(t) + K_2 q_n^2(t)], \ K_1 = A_1 + A_4 + \frac{3}{2}(A_2 + A_3), \ K_2 = \frac{1}{2}(A_2 + A_3).$$

In a similar way, we obtain

$$q'_{n+1}(t) \leq L(t)q_{n+1}(t) + D_2$$
 with $D_2 = \max_{t \in J} [K_3 p_n^2(t) + K_4 q_n^2(t)],$

where

$$K_3 = \frac{1}{2}(A_1 + A_4), \qquad K_4 = A_2 + A_3 + \frac{3}{2}(A_1 + A_4).$$

Put $w = p_{n+1} + q_{n+1}$, so $w(0) = \alpha w(t_1) + \beta w(T)$, and

$$w'(t) \leq L(t)w(t) + D, \quad t \in J$$

with $D = D_1 + D_2$. Consequently, by Lemma 2, we have

$$w(t) \leqslant K(t) \Big\{ \frac{1}{m} [\alpha K(t_1) C(t_1) + \beta K(T) C(T)] + C(t) \Big\} D, \quad t \in J$$

with K defined as in the assumption $H_3(a)$ and

$$C(t) = \int_0^t e^{-\int_0^s L(r) \, dr} \, ds, \quad m = 1 - \alpha K(t_1) - \beta K(T)$$

Put

$$\gamma = \max_{t \in J} K(t) \Big\{ \frac{1}{m} [\alpha K(t_1) C(t_1) + \beta K(T) C(T)] + C(t) \Big\}$$

Then

$$\max_{t \in J} w(t) \leqslant (K_1 + K_3) \gamma \Big[\max_{t \in J} p_n^2(t) + \max_{t \in J} q_n^2(t) \Big].$$

Since $\max_{t\in J} p_{n+1}(t) \leq \max_{t\in J} w(t)$ and $\max_{t\in J} q_{n+1}(t) \leq \max_{t\in J} w(t)$ we get the desired quadratic convergence.

The proof is therefore complete.

Remark 2. Theorem 1 contains some results of [5] (when $\alpha = 0$), [8], [12] (when $\alpha = \beta = 0$), [10], [12] (when $\alpha = k = 0, \beta = 1$).

Section 2

Now, we shall consider the following differential problem

(13)
$$\begin{cases} x'(t) = h(t, x(t)), & t \in J = [0, T], \ T > 0, \\ x(0) = \alpha x(t_1) - \beta x(T) + k, & 0 < t_1 < T, \end{cases}$$

where $h \in C(J \times \mathbb{R}, \mathbb{R}), k \in \mathbb{R}, \alpha, \beta \ge 0$.

Functions $u, v \in C^1(J, \mathbb{R})$ are called weakly coupled lower and upper solutions of the problem (13) if

$$\begin{cases} u'(t) \leq h(t, u(t)), \ t \in J, \ u(0) \leq \alpha u(t_1) - \beta v(T) + k, \\ v'(t) \geq h(t, v(t)), \ t \in J, \ v(0) \geq \alpha v(t_1) - \beta u(T) + k. \end{cases}$$

Theorem 2. Let the assumptions H_1 and H_3 hold. Let y_0, z_0 be weakly coupled lower and upper solutions of the problem (13) and such that $y_0(t) \leq z_0(t), t \in J$. Then there exist monotone sequences $\{y_n\}, \{z_n\}$ which converge monotonically and uniformly to the unique solution of the problem (13) and the convergence is quadratic.

$$\begin{array}{l} {\rm P\,r\,o\,o\,f.} \quad {\rm Let} \\ \left\{ \begin{array}{l} y_{n+1}'(t) = h(t,y_n) + W(t,y_n,z_n)[y_{n+1}(t) - y_n(t)], \ t \in J, \\ y_{n+1}(0) = \alpha y_{n+1}(t_1) - \beta z_{n+1}(T) + k \\ \\ \left\{ \begin{array}{l} z_{n+1}'(t) = h(t,z_n) + W(t,y_n,z_n)[z_{n+1}(t) - z_n(t)], \ t \in J, \\ z_{n+1}(0) = \alpha z_{n+1}(t_1) - \beta y_{n+1}(T) + k, \end{array} \right. \end{array} \right. \end{array}$$

where W is defined as in Lemma 6. The proof is similar to the proof of Theorem 1 and therefore is omitted.

Remark 3. Theorem 2 contains some results of [5] (when $\alpha = 0$), [12], [16], [17] (when $\alpha = k = 0, \beta = 1$).

Section 3

Let us consider a generalization of the problems (1) and (13), namely

(14)
$$\begin{cases} x'(t) = h(t, x), & t \in J, \\ x(0) = \sum_{i=1}^{r} a_i x(t_i) + k, & 0 < t_1 < t_2 < \dots < t_{r-1} < t_r = T \end{cases}$$

where $h \in C(J \times \mathbb{R})$, $k \in \mathbb{R}$ and $a_i \in \mathbb{R}$, i = 1, ..., r. Functions $u, v \in C^1(J, \mathbb{R})$ are called weakly coupled lower and upper solutions of the problem (14) if

$$\begin{cases} u'(t) \leqslant h(t,u), & t \in J, \\ v'(t) \geqslant h(t,v), & t \in J, \end{cases} \quad u(0) \leqslant \sum_{i=1}^{r} a_i \zeta(t_i,u,v) + k, \\ v'(t) \geqslant h(t,v), & t \in J, \\ v(0) \geqslant \sum_{i=1}^{r} a_i \eta(t_i,u,v) + k, \end{cases}$$

where

$$\zeta(t_i, u, v) = \begin{cases} u(t_i) & \text{if } a_i > 0, \\ v(t_i) & \text{if } a_i < 0, \end{cases} \qquad \eta(t_i, u, v) = \begin{cases} v(t_i) & \text{if } a_i > 0, \\ u(t_i) & \text{if } a_i < 0. \end{cases}$$

The proof of the next theorem is similar to the proofs of Theorems 1 and 2 and therefore is omitted.

Theorem 3. Let the assumption $H_3(a)$ hold. Assume that the condition

$$\sum_{i=1}^{r} |a_i| K(t_i) < 1 \quad \text{for } K(t) = e^{\int_0^t L(s) \, ds}$$

is satisfied with L defined as in the assumption $H_3(b)$. Let $y_0, z_0 \in C^1(J, \mathbb{R})$ be weakly coupled lower and upper solutions of the problem (14) such that $y_0(t) \leq z_0(t), t \in J$.

Then there exist monotone sequences $\{y_n\}$, $\{z_n\}$ which converge monotonically and uniformly to the unique solution of the problem (14) and the convergence is quadratic.

Remark 4. Note that Theorems 1 and 2 are special cases of Theorem 3. Moreover, Theorem 3 contains some results of [6] when all the coefficients a_i of (14) are positive or all are negative.

References

- R. A. Agarwal, D. O'Regan and P. J. Y. Wong: Positive Solutions of Differential Difference and Integral Equations. Kluwer Academic Publishers, Dordrecht, 1999.
- [2] R. Bellman: Methods of Nonlinear Analysis, Vol. II. Academic Press, New York, 1973.
- [3] R. Bellman and R. Kalaba: Quasilinearization and Nonlinear Boundary Value Problems. American Elsevier, New York, 1965.
- [4] S. Heikkilä and V. Lakshmikantham: Monotone Iterative Techniques for Discontinuous Nonlinear Differential Equations. Marcel Dekker, New York, 1994.
- [5] T. Jankowski: Boundary value problems for ODEs. Czechoslovak Math. J. 53 (2003), 743–756.
- [6] T. Jankowski: Multipoint boundary value problems for ODEs. Part I. Appl. Anal. 80 (2001), 395–407.
- [7] G. S. Ladde, V. Lakshmikantham and A. S. Vatsala: Monotone Iterative Techniques for Nonlinear Differential Equations. Pitman, Boston, 1985.
- [8] V. Lakshmikantham: Further improvements of generalized quasilinearization method. Nonlinear Anal. 27 (1996), 223–227.
- [9] V. Lakshmikantham, S. Leela and S. Sivasundaram: Extensions of the method of quasilinearization. J. Optimization Theory Appl. 87 (1995), 379–401.
- [10] V. Lakshmikantham, N. Shahzad and J. J. Nieto: Methods of generalized quasilinearization for periodic boundary value problems. Nonlinear Anal. 27 (1996), 143–151.
- [11] V. Lakshmikantham and N. Shahzad: Further generalization of generalized quasilinearization method. J. Appl. Math. Stoch. Anal. 7 (1994), 545–552.
- [12] V. Lakshmikantham and A. S. Vatsala: Generalized Quasilinearization for Nonlinear Problems. Kluwer Academic Publishers, Dordrecht, 1998.
- [13] D. O'Regan and M. Meehan: Existence Theory for Nonlinear Integral and Integrodifferential Equations. Kluwer Academic Publishers, Dordrecht, 1998.
- [14] M. Ronto and A. M. Samoilenko: Numerical-Analytic Methods in the Theory of Boundary-Value Problems. World Scientific, Singapore, 2000.
- [15] V. Šeda: A remark to quasilinearization. J. Math. Anal. Appl. 23 (1968), 130–138.
- [16] Y. Yin: Remarks on first order differential equations with anti-periodic boundary conditions. Nonlinear Times Digest 2 (1995), 83–94.
- [17] Y. Yin: Monotone iterative technique and quasilinearization for some anti-periodic problems. Nonlinear World 3 (1996), 253–266.

Author's address: Gdańsk University of Technology, Department of Differential Equations, 11/12 G. Narutowicz Str., 80-952 Gdańsk, Poland, e-mail: tjank@mif.pg.gda.pl.